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O=2XX NHZEH 1T 24=
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OxJetEze] U2
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Rl ARZ2AE S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 25,628 9,762 15,866
O==HgYl & M= 212y 25,628
= 76,9602 x2EH*1502 23,088
-AEIEY JI2ARES
23,088,000 *11% 2,540
201 =3 7,700 7,200 500
01 At2t2ltl 7,700 0 7,700
OETI0IZ HFAAL (D) 2t 2Holad~
- 7,700,000 7,700
401 AIEHIX SO 85,000 110,000 A25,000
01 AlZH| 70,000 95,000 A25,000
Oa2nZAI4E XH S 5 E9H|
5,000,000 5,000
OEZ2 S Ad RX=E=H|
50,000,000 50,000
OZ2 o siEY HEAe
15,000,000 15,000
03 AIZSTHYI 15,000 15,000 0
OkZ « olafdHl 3l SXE
10,000,000& 10,000
ON&ZH dxt= 5,000,000 5,000
ZLXEAY 45,000 66,500 /21,500
206 MH=HI 15,000 15,000 0
01 MHZH| 15,000 15,000 0
OZZLTEME M=+ 15,000,000& 15,000
401 AlZHIZ S 0HbI 30,000 51,500 221,500
01 AlZH| 30,000 50,000 220,000
SHE L= SANEESE FA2ClAY
10,000,000& 10,000
OS4& MY Itz |2kl
10,000,000 10,000
O=2 2 51&¥ B2 U 242 THAK
10,000,000 10,000
U0l A 100,000 150,000 50,000
401 AIEHIX R0 100,000 150,000 50,000
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OdFEH A2F FHl 12,560
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- EU 440, 0002 «2CH x4 S22 7,040
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OLFd ot Re| SEIEY £X
20,000,000 20,000
2 S5=24g4l 9,138 9,137 1
03322 % MAM(RER23)
7,000,000& 7,000
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-OIISARI10] 1,300,000 *17CH 5% 1,105
-ZelH 4,000,000 *9CH 2% 720
-S A 15,000,000 *1CH*2% 300
FAX 630, 0002 *1CH*2% 13
202 048l 45,900 45,900
02 A0 45,900 45,900
OZH048l 225,000 x178 128 45,900
203 =48] 10,880 10,880
01 D122 HARFA| 6,600 6,600
osd 550,000& * 122 6,600
02 FRIHArA =AY 680 680 0
OXE A& &EH| 40,0008 %17 680
M A2 LRFAI 3,600 3,600 0
ORANEgg =AY 300,000 x 122 3,600
401 Al HIZ S OHbI 48,260 48,260
01 A28l 48,260 48,260
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22,000,000 22,000
OFAL 8% ) & M &3 SA
26,260,000 26,260
405 KHaHF S| 5,850 800 5,050
01 ML ESFSHI 5,850 800 5,050
OFA &) T 5,500,000 *1CH 5,500
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